= o
N & o & AF & H Al A
S S04 LBSA AL
AL sH
WHO A2 S Al D& =E
AYSA B g 2 29 CERED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AL s 12,627,951 26,587,469 A 13,959,518
& 650,000
J| 465,403
< 2,162,380
Al 9,350, 168
WHO A2 S Al D& X & 583,040 513,040 70,000
ZEA EX e 2 128,040 128,040 0
WHO A2 & Al =& 47,340 97,340 250,000
201 Let24dH] 15,500 15,500 0
01 At 22/l 12,700 12,700 0
O1 gt=2Hl 9,200
DHLZA SN 2 HE=
50,0003 «102! %23 1,000
DU HZTA ZE - AEZXY &t S5
gl 100,000 *3021 x4 3] 1,200
DH6EX Hd2EZAHY IFHES It S=H|
400, 000& x5¢! 2,000
DATZAl EES M 10,000& *500H 5,000
O3 2d=¢ 3,500
DABEA U B2
70,0003 2501 +23] 3,500
02 =224l 2,800 2,800 0
O1 2323 % HMA 2,800
DWHO MEHE XS AL Al HE A3l
800,000& x13| 800
DOstel 2 A2 A 25 A3l
2,000,000& x13l 2,000
202 oddl 6,840 6,840 0
01 S LHOYI 6,840 6,840 0
OHZEA gRFA 570,000& 128 6,840
307 21201 A 25,000 75,000 A 50,000
02 BIZHEANEXS 25,000 25,000 0
OJFAIL A2 L(AL=H)
25,000,000& =14 25,000
HLTA B2AY =& 30,700 30,700 0
201 2et24d] 700 700 0
01 At 2teltl 700 700 0
O3 2d=¢ 700
DAARIREE SHE 70,000 521 x23] 700
307 21201 A 30,000 30,000 0
02 P AEXS 30,000 30,000 0
OAHLZA S2AY =& 30,000,000& =14 30,000




AN AZHSD
M WHO A2 E Al JIEXH
Sl AYTA BH Y L 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FFAC AL & JIE2NE 50,000 0 50,000
307 glz2tol & 50,000 0 50,000
04 QIZtHAIE X = 50,000 0 50,000
O=AE H29 H(IIE2HE)
50,000,000& =14 50,000
izs+ =4 355,000 285,000 70,000
o) Z2E X 125,000 285,000 A 160,000
307 21201 A 125,000 285,000 A 160,000
04 QIZHHAIE X = 125,000 285,000 A 160,000
OZz2=s+ =ddl XA 125,000,000& * 14 125,000
ZT2s7 830 ALK& 160,000 0 160,000
307 glz2+ol & 160,000 0 160,000
04 QIZtHAIE X = 160,000 0 160,000
OZzs+ 827 MK
160,000, 000& * 14 160,000
Is7 HIHZ2ZE 2SsdAMXA 70,000 0 70,000
307 gl2tol & 70,000 0 70,000
04 QIZHHAIE X = 70,000 0 70,000
Onzs JIAZENE RSHUMKE
70,000,000& =14 70,000
AT AL S A 100,000 100,000 0
2sos (A2 e)dH 2% 100,000 100,000 0
307 21201 A 100,000 100,000 0
02 P AEXS 100,000 0 100,000
OBMAYSSOISME SHY X
100,000,000& * 14 100,000
MM &S5 5,041,520 4,919,549 121,971
J| 225,403
< 52,380
Al 4,763,737
dEMSEsY 3,243,994 3,307,019 A 63,025
< 25,000
Al 3,218,994
dEHE s4X& 2,943,994 3,307,019 A 363,025
201 Let24E] 42,074 187,497 A 145,423
02 =224l 42,074 37,497 4,577
O1332= & MAl 34,874
DAJE(R4, 24 I )8=L IS
300,000& 300 A~ 128 10,800
DAE (SN, =M, AT)BEL MEAE 9
= 9,000& *3H A+ 12 324




2N
X ZH -
L= B

el

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
CAYE (RY, =4, 95 )a a4 el
280,000 34 A +122 10,080
PAYE (S, 24, 9E)BEL SAT A
200,000 304 A +122 7,200
DAUE(S4, 54 ,95)85L AHY, 8
& ™ SHH| 150,000& 3 A+ 123 5,400
>AAE XS XA 70,0003 ~1CH 70
DAYE NS BE=2(584E)
1,000, 000% *1CH 1,000
O2 H=l 4,800
DAUE =EET HdE]
200,000 #2J4 2«12 4,800
O4 Xtg - ot 2,400
>AYE XHERIY 2,400,000& » 14! 2,400
301 gt 4= 1,376,360 1,413,802 A 37,442
o=t - 2S2S243 1,376,360 1,413,802 A 37,442
Oag8 RS el 352,161
>PII22(30, 68 1958 &)
3,050, 100& 621 x 12 219,608
>PEZE 3,050, 100& 621 x50/ 100*2 18,301
> HE S| 3,050, 100& =621 %60/100+2& 21,961
DEESY 350,000& +601x12& 25,200
> == 50,0003 «62!«12& 3,600
> = Al 250,000& 601 x12& 18,000
D2t 100,000& 621 x12& 7,200
DItE=¢ 80,0003 «62! x12& 5,760
PNEBEZ 319,630,000& *1.5% 4,795
DAMATNEE = 319,630,000& *1.039% 3,321
DIBALEH 319,630,000& *2.945% 9,414
DEINRAEH 9,414,000& *6.55% 617
>0z 319,630,000& *4.5% 14,384
O&gE d= Al 60,000,000& » 14! 60,000
Oagg & oAb 697,859
DIIES(S0H, 72 1358 &Y)
2,424 4003 x15Q1x 123 436,392
>PEZSH 2,424,400& 1521 %50/100*2 & 36,366
> EFOH , 424,400 *1521 x60/100+2 & 43,640
DEEsEY 350,000& 1501123 63,000
> ==l 50,000 x15Q1 « 12 9,000
> = Al 250,000& 1501123 45,000
PONEBEE= 633,397,000& *1.5% 9,501
DAMTHEE S 633,397,000& *1.039% 6,581
DAL BER 633,397,000& *2.945% 18,654
PEIRAEER 18,654,000& 6. 55% 1,222




SN ASHSD
M ANMESELS
Sel: MRS S CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
>IBH=ZEER 633,397,000& *4.5% 28,503
O2JtHE =% 400,000& *521«12& 24,000
Ollal sdt(2E . s4,54)
50,0003 2121 x5 83 42,000
OHXESHI (AT, 54, =4)
50,0003 #2121 «10 23] 21,000
ONNZEE(AE, 54, 24)
80,000& «212!«12& 20,160
O3Uudtsa =43 15,000,000 * 1Al 15,000
O=2RNta Z&3 15,000, 000& 14! 15,000
OagE Hd=th 2ZHl 120,000 +*3&5=+12& 4,320
Oadg A3yl 6,000
Dt PATHM HAZHl 2,000,000 1Al 2,000
DetAAFAHAN ASIH 2,000,000 14 2,000
DEt=aPESAHW HAZH 2,000,000 1A 2,000
Oagg =t 53,780
DHE(AE, K4, 24) 250,000& #2121 %23 10,500
DEHES 200,000& 2121 %23| 8,400
>AI= 200,000& 1521 %23 6,000
DT-H= 65,000 *2121 x23] 2,730
D> gets 250,000& #2121 % 13| 5,250
>ZISH(=4) 200,000& 521 %23 2,000
>IN (EE) 200,000& 501 +23] 2,000
DA (S A 400,000& 521 %23 4,000
> & d st 200,000& #2121 x23] 8,400
> EHOI = 150,000& » 1521 %23 4,500
O EHEH ¢ 22,300
DAZE 3,300,000 *2H 6,600
D> o & 2l 2 (165kg) 5,000,000& »22%& 10,000
D> HHE O E 500,000& 274 1,000
> Of CH 150,000 *521 x23] 1,500
DIMLO(STINZ) 200,000 x2 £ +53] 2,000
DHE 200,000& »62! 1,200
O=2adx 23&H 2 7,540
D AGHM 281+ 3,000,000 =14 3,000
>=2dE 200,000& 501 +23] 2,000
>OE 100,000& x4 X x23| 800
>olEJ1 0 100, 000& *5JH »23] 1,000
DOt B 15,0003 1201 x33| 540
DEAESH 20,000 +50H »23] 200
Os4dds 23EH ¢ 5,240
D ASHM 2301+ 3,000,000& =14 3,000
DEHEE 200, 0002 *2J4 400




AN AZHSD
M AN MsEdst
Hel d2HSSsd (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
DYetAIlE 180, 000& 2K 360
>SEd 50,000& =24 100
DOHOHZAE 300, 000& *3 4 900
DagtA 80, 000& »2H 160
DI % E 80,000& *2H 160
>EIZClEl Ed0] 80, 000& *2H 160
Oagd &2a3 6,000, 000 *5¢! 30,000
307 glztol & 759,960 940,120 A 180,160
02 B AEXS 543,960 0 543,960
Od=H=s gdat XN& 220,000,000& » 14 220,000
OMSMEXNCX 22 (=sFHl)
323,960,000& » 14 323,960
03 MlEHHEX= 216,000 216,000 0
ONSASEMNE=S 23 216,000,000& =14l 216,000
308 XXM SO0l A 765,600 765,600 0
06 nFI20UStExS 765,600 765,600 0
Ox - =%n MSEL3 XN
150,000,000& * 14 150,000
Ozx-3su MEXNEZI XA
615,600,000 * 14! 615,600
H49s] R EMAE =H 250,000 0 250,000
307 21201 & 250,000 0 250,000
04 QIZtHAIE X = 250,000 0 250,000
OHM49a LHAERHE =H
250,000,000& » 14 250,000
2015 2 MISAAU(IBF) MASS X 50,000 0 50,000
< 25,000
Al 25,000
307 21201 & 50,000 0 50,000
< 25,000
Al 25,000
04 QIZtHAIE X = 50,000 0 50,000
02015 ZHM=4HU(IBF) MASE X
50,000,000 * 14! 50,000
< 25,000
Al 25,000
MEHSSH 1,594,526 1,407,530 186,996
J| 225,403
< 27,380
Al 1,341,743
ASHSHA Nz & 22X 40,400 1,026,900 986,500
201 LEr2 Y| 15,000 19,000 A 4,000
01 Ab2 2t bl 15,000 19,000 A 4,000




SN HAMED
M AN MsEdst
ool MERSSY CER-ED
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
O1 get==EH| 1,000
P2AE Msds 23X 32 WA
50,000& 205 1,000
06 dxt= 14,000
PHEIRF 3,000,000 * 14 3,000
DH=3 S& = 2% gi=
11,000,000& * 14 11,000
202 4l 16,800 16,800 0
01 S LHOIYI 16,800 16,800 0
OJleges=d 1,400,000 128 16,800
301 et d = 3,600 3,600 0
09 SALAHIEA S 3,600 3,600 0
OMENMESXE=XN =0
50,0003 #1221 +3 +23] 3,600
402 QI2H X201 M 5,000 7,500 A 2,500
01 BIZEAt=2 82 X 5,000 7,500 A 2,500
OLYSEX AL EXI&
5,000,000& =14 5,000
ANActel EMSAEX HHXIALS 194,304 176,640 17,664
J| 97,152
Al 97,152
307 21201 A 194,304 176,640 17,664
J| 97,152
Al 97,152
02 2t E XS 194,304 176,640 17,664
OMEMSX X BHXI ALY 194,304,000 * 14 194,304
J| 97,152
Al 97,152
oza Msgs XN 97,152 88,320 8,832
J| 48,576
Al 48,576
307 glz2tol & 97,152 88,320 8,832
J| 48,576
Al 48,576
02 RIZHENEXS 97,152 88,320 8,832
onza Hsss X 97,152,000 * 1Al 97,152
J| 48,576
Al 48,576
AEXIHRH ALY 109,200 109,200 0
J| 76,440
< 16,380
Al 16,380
301 et A= 109,200 0 109,200
J| 76,440




AN AZHSD
M ANMESELS
& MEHssd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 16,380
Al 16,380
01 MEIBEE 263 109,200 0 109,200
OAZXHIRHAAS 109,200,000& * 14 109,200
J| 76,440
S 16,380
Al 16,380
MEHss 22X 6,470 6,470 0
J| 3,235
Al 3,235
307 gl2tol & 6,470 6,470 0
J| 3,235
Al 3,235
02 QIZtFAEXS 6,470 6,470 0
OdeN=ss 29X 6,470,000 x 14! 6,470
J| 3,235
Al 3,235
ZRASXAD tHal S 60,000 0 60,000
307 glz2tol & 60,000 0 60,000
04 RIZIHAIE RS 60,000 0 60,000
OZJZXADItHS KX 60,000,000 * 14! 60,000
Hosl ==X d2BHECIEWS =l 35,000 0 35,000
307 21201 A 35,000 0 35,000
04 BIZtHAIE RS 35,000 0 35,000
OXM9sl ==Xt d=HECIEWS Ml
35,000,000& » 14! 35,000
M08 2FAEH &=6LANE HE 35,000 0 35,000
307 glz2+ol & 35,000 0 35,000
04 RIZIHAIE RS 35,000 0 35,000
OXM10a A 8=HLAU2 JHE
35,000,000& » 14! 35,000
M0z 2FAMEH d=dH=zSUHa HE 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 RIZIHAIE RS 30,000 0 30,000
OHM108 FFAIEH ¥z HA
30,000,000& =14 30,000
M7zl =X SHZAU2 HE 35,000 0 35,000
307 gl2tol & 35,000 0 35,000
04 RIZHHAIE RS 35,000 0 35,000
OHM7al =X S UHZAUS Nz
35,000,000& =14 35,000
H53 2FAIEH 83SEUE izl 10,000 0 10,000




SN ASHSD

M AQHSEAS

ool MERSSY CER-ED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2izto| A 10,000 0 10,000
04 QIZ2tSHALE X 2 10,000 0 10,000

OHMb53 FAIEH 828U 3 JHE
10,000, 000 = 1Al 10,000

H128] X224 Ot2HEUE A 35,000 0 35,000
307 2iz2to| & 35,000 0 35,000
04 QIZ2tSH AL X 2 35,000 0 35,000

OHM123] =X24A DletEWS HE
35,000,000 = 14! 35,000

K83l =CIMEYSCAANESLE EE2WU3 WA 12,000 0 12,000
307 2Iz2t0| A 12,000 0 12,000
04 QIZISH AL X 2 12,000 0 12,000

OHMB83 Z2o0MEHSUHXNSLLE ERUS HA
12,000,000 14l 12,000

M6zl XD M=202UE JHA 25,000 0 25,000
307 QI2t0| & 25,000 0 25,000
04 Q2tHAIE X = 25,000 0 25,000

OHM63l XI2J| M=0F2CHE JH=E
25,000,000 14! 25,000

H63l RFX A St 82 =03 KA 35,000 0 35,000
307 QI2t0| & 35,000 0 35,000
04 QI2tHAIE X = 35,000 0 35,000

OHN63 JFXAAMSHR2H d=2FZ2U3F =
35,000,000 x1A! 35,000

M43 FAIEH 822U W= 35,000 0 35,000
307 gizto| A 35,000 0 35,000
04 QIZ2tSHALE X 2 35,000 0 35,000

OHM43l d=AEH 825322013 HE
35,000,000 = 1A! 35,000

K63l Hep =2 0I2tE U3 JH = 5,000 0 5,000
307 2iz2to| & 5,000 0 5,000
04 QIZ2tSHALE X 2 5,000 0 5,000

OHN63l Bi=2Ab =20t2tEMH 3 =
5,000,000& 14! 5,000

2014 A= == BHA =S JH= 30,000 0 30,000
307 2Iz2t0| & 30,000 0 30,000
04 QIZ2tSH AL X 2 30,000 0 30,000

02014 =2 == B =3 JH=
30,000,000& x 14! 30,000
M39s UetsEIEI M=2=Ds20U3 HA 80,000 0 80,000




AN AZHSD
M ANMESELS
chel: MEHSSY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 80,000 0 80,000
04 RQIZIHAIE RS 80,000 0 80,000
ORM39g ets 83 E) d=28ns7UH
i = 80,000,000 » 14! 80,000
2014 S Y A=2E203 M=l 40,000 0 40,000
307 glz2tol & 40,000 0 40,000
04 DIZIHNME XS 40,000 0 40,000
02014 =4 A=EFU3 Nzl
40,000,000& =14 40,000
PEAMEI(H)BS=SEUSE KA 120,000 0 120,000
307 gl2tol & 120,000 0 120,000
04 RIZIHAIE X S 120,000 0 120,000
ORFAIZII()S=SLUS =
120,000, 000& 14 120,000
2014 DWAHESH =SS 220,000 0 220,000
307 21201 A 220,000 0 220,000
04 QIZFHAIE XS 220,000 0 220,000
02014 DWASMSUHS 220,000,000& 14! 220,000
2014 A=Al 248 ALE M= 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 DIZVANE XS 20,000 0 20,000
02014 Al HE2AAME H=US
20,000,000& =14 20,000
ozd Hsgs N 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 RIZIHAtE X S 10,000 0 10,000
onzd H=sgs XA 10,000, 000& 14 10,000
2014 S8UHE RAEEI2USE 4,000 0 4,000
307 gl2tol & 4,000 0 4,000
04 RIZIHAIE RS 4,000 0 4,000
O2014 SEUHE SFAaH=FUHS
4,000, 0003 =14 4,000
FadE HEsEE =29 15,000 0 15,000
307 21201 A 15,000 0 15,000
04 RIZIHAIE X S 15,000 0 15,000
O&FAY HE=s7LZ 22 15,000,000 1A 15,000
SotMl ALK& 2,000 0 2,000
307 120l & 2,000 0 2,000
04 RIZIHAIE RS 2,000 0 2,000




SN ASHSD
M ANMESELS
& MEHssd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OS3stHl ALK& 2,000,000& =14 2,000
HEd=sgs XJ 2,000 2,000
307 glz2tol & 2,000 2,000
04 BIZtHAIE RS 2,000 2,000
oudxd=gs XA 2,000,000& x14 2,000
HBHE 29 18,000 18,000
401 AIEHI L 20HEI 18,000 18,000
01 A& Hl 18,000 18,000
ONME 22 18,000, 000& 14! 18,000
2014 2EFC =03l 50,000 50,000
307 glz2tol & 50,000 50,000
04 RIZIHAIE RS 50,000 50,000
02014 2=FC A =0H3 50,000, 000& * 14! 50,000
H22s] ZJATQIMEHE =M 80,000 80,000
307 21201 A 80,000 80,000
04 BIZtHAIE RS 80,000 80,000
OHM223 LASNMENNE &M
80,000,000 » 14! 80,000
RN EN =SS =H 15,000 15,000
307 glz2+ol & 15,000 15,000
04 RIZIHAIE RS 15,000 15,000
OZFcozddasEUz =d
15,000, 000& 14! 15,000
M23s ZJAFNMOtetEUE & 10,000 10,000
307 glz2tol & 10,000 10,000
04 RIZHHAIE XS 10,000 10,000
OHM23sl LA AHOIHEUS &
10,000,000& 14 10,000
ZESXADI(BH)HE &8 X 57,000 57,000
307 21201 A 57,000 57,000
04 RIZIHAIE X S 57,000 57,000
OZ2TXIADI(H) e & XA
57,000,000& =14 57,000
MEHsRY 29 22,000 22,000
= 11,000
Al 11,000
307 21201 A 22,000 22,000
< 11,000
Al 11,000
02 BIZHANEXS 22,000 22,000




AN AZHSD
M AN MsEdst
& MEHssd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odasns 29 22,000,000& =14 22,000
< 11,000
Al 11,000
Z2II2s 84 108,000 90,000 18,000
H20s 2F=3MZIU3 Nzl 70,000 0 70,000
307 21201 A 70,000 0 70,000
04 BIZtHAIE RS 70,000 0 70,000
OHM208 F==HMZIIHal JH=
70,000,000& » 14! 70,000
M0 2FAMEZIIU3 N 38,000 0 38,000
307 glz2+ol & 38,000 0 38,000
04 QIZtHAIE XS 38,000 0 38,000
OXM10a =AM ZIIU2 Nl
38,000,000 » 14! 38,000
e M==s4 95,000 115,000 220,000
O M=s2sX&E 40,000 115,000 AT75,000
307 glz2tol & 40,000 115,000 AT75,000
02 QIZtFAE XS 40,000 40,000 0
OZOMY d2H=E S4XF  20,000,0008 «14] 20,000
OZ0e deMs gd3t XN&
20,000,000 » 14! 20,000
H7sl 20 MEMSUH 35,000 0 35,000
307 g1+l & 35,000 0 35,000
04 QIZtHAIE XS 35,000 0 35,000
OHM73 ZJAZHOC MEMSUHI
35,000,000 » 14! 35,000
Tl A=A XA 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZtHAIE X = 20,000 0 20,000
OBl AT EHA X & 20,000, 000& * 1Al 20,000
HMESAEtSE 6,113,010 17,196,508 A 11,083,498
& 650,000
< 1,940,000
Al 3,523,010
SENSANEES 200,000 15,346,000 A 15,146,000
O AE Ms2 AE 200,000 6,270,000 A 6,070,000
405 RHoHE S HI 200,000 0 200,000
01 AL EZFH S 200,000 0 200,000
OZMH=E2 =57 200,000,000 * 1Al 200,000
M SALES 4,068,500 1,534,348 2,534,152
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EEE
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 650,000
< 440,000
Al 2,978,500
St 28 MEMSAE & 302,160 201,440 100,720
401 Al HIZ 201 8] 302,160 201,440 100,720
01 A& HI 300,000 200,000 100,000
OSNIXNEE MEHMSANE dXSAH (LIS
gl) 300,000,000& 14 300,000
03 Al S THHI 2,160 1,440 720
OAIZ 24l 300,000,000% *0.72/100 2,160
HOIEEE =4 308,340 302,160 6,180
401 AIEHI L 20 308,340 302, 160 6,180
01 A& HI 300,000 300,000 0
OHOESE LI 300,000,000& 14 300,000
02 Zteltl 6,180 0 6,180
ONOIEEE =H3AM
300,000,000% *2.06/100 6,180
03 AlE S THHI 2,160 2,160 0
OA &= HHI 300,000,000 *0.72/100 2,160
A4S ANEHSHI 29 100,000 100,000 0
201 et 100,000 100,000 0
01 At 22l 100,000 100,000 0
O6 21z 100,000
DRAS ANUHMSHI EX X2
100,000, 000& * 14 100,000
R0 23 HEMSAME EX A 180,000 0 180,000
308 XX EHH SOl A 180,000 0 180,000
06 nFI20HUSEXS 180,000 0 180,000
O=s1NsSsl 2T HENMISAME XM
180,000,000 * 14 180,000
HE= BHEQEZ AX A 70,000 0 70,000
401 AIEHI L 2 CHYI 70,000 0 70,000
01 A& HI 70,000 0 70,000
ONd&E=Z= HHEREZ X 3A 70,000
DEAEZ HHECQEE EXSAH AAIEAHES
70,000,000& =14 70,000
SALHLASZE HSAE HE= 402,000 0 402,000
< 200,000
Al 202,000
401 AIEHI L 201 402,000 0 402,000
< 200,000
Al 202,000




2N AIHF Y
L

g MSAMEES
A

Ce: MENSAEESE (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& B 400,000 0 400,000
OEFR& ZHZBA 400,000, 000& = 1Al 400,000
& 200,000
Al 200,000
03 Al&E 201 Y| 2,000 0 2,000
OF3& X4 ZAF AIE 20|
2,000,000& 14! 2,000
MS AXXC)RE X4 1,505,000 0 1,505,000
2 350,000
Al 1,155,000
401 A& HI L 204 HI 1,505,000 0 1,505,000
2 350,000
Al 1,155,000
01 Al&H| 1,500,000 0 1,500,000
OSUE UXFOIE =4
1,500,000,000& 14! 1,500,000
2 350,000
Al 1,150,000
03 Al&E 201 Y| 5,000 0 5,000
ORNE AXTURE TH ALY
5,000,000& x14! 5,000
EH& O & L QIZINAHOIER =M 1,000,000 0 1,000,000
2 300,000
= 140,000
Al 560,000
401 Al HI L 204 HI 1,000,000 0 1,000,000
2 300,000
= 140,000
Al 560,000
Al & H| 993,700 0 993,700
OENEOFRE L QIIOIANOIER =4
993,700, 000& = 14! 993,700
2 300,000
= 140,000
Al 553,700
03 Al 201 Y| 6,300 0 6,300
OEHEOPE L QI AHOIER T4 ALEE
CH I 6,300,000 x4l 6,300
AEO ZAAIY XM 201,000 0 201,000
= 100,000
Al 101,000
401 A& HI L 204 HI 201,000 0 201,000
o 100,000
Al 101,000
01 Al&H| 200,000 0 200,000
OAax™H ZAHIE =4 200,000,000& 1Al 200,000




M AIHF
L

HEM: HFALEES
CMEXSAEES (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
[ 100,000
Al 100,000
03 Al 20| 1,000 0 1,000
OAaxH ZAHIE 4 AMd=200]
1,000,000 x1A! 1,000
HHMSAEE= 316, 160 316, 160 0
SUHIHMSAIE &X £ S22 316, 160 316, 160 0
201 LBt 9H]| 14,000 14,000 0
01 AP 22| H| 4,000 4,000 0
O1 detf=2H| 4,000
DSUMSANE 22ls 285 7
4,000,000 1Al 4,000
02 2224 10,000 10,000 0]
O1 222 2 HA 10,000
PEUMSAE 332=2 10,000, 000 = 1Al 10,000
401 Al HI L £ 0HHI 302, 160 302, 160 0
01 Al&EH| 300,000 300,000 0
OsUM=sSAIE &X € B
300,000,000& x14! 300,000
03 AlE 20| 2,160 2,160 0
OAlIE S0l 300,000,000 x0.72/100 2,160
Z2AC0HEUS =4I ,528,350 0 1,528,350
o= ,500,000
Al 28,350
2015 2R 0IHSUS UH MSAAE HE % ,528,350 0 1,528,350
o=} ,500,000
Al 28,350
401 Al HI L 2 0HHI ,528,350 0 1,528,350
= ,500,000
Al 28,350
01 Al& H| ,528,350 0 1,528,350
02015 Lol EUHa Y HSAE HE S
2 At 1,500,000, 000 * 14! ,500,000
o ,500,000
Ozeldl 1,500,000,000& *1.53/100 22,950
OA& 20| 1,500,000, 000 *0.36/100 5,400
22 X822 817,000 3,889,000 A 3,072,000
J| 240,000
= 170,000
Al 407,000
HE2IXH 817,000 3,889,000 A 3,072,000
J| 240,000
&< 170,000
Al 407,000




A HdZH=H
B ZAZHBL
Sl HEZHEH CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S22 MEHYSI2AXTH(EX) 817,000 3,190,000 N2,373,000
J| 240,000
& 170,000
Al 407,000
401 AlEHIZL 2 0HY| 817,000 3,190,000 N2,373,000
J| 240,000
&< 170,000
Al 407,000
01 Al&H| 817,000 3,160,000 AN 2,343,000
O/ FATEEE 4o 817,000,000 14! 817,000
J| 240,000
o= 170,000
Al 407,000
HHSHAY (AL HE) 73,381 69,372 4,009
ClER2AH|(AH2MS ) 39,393 35,600 3,793
ol A | 39,393 35,600 3,793
101 221 d| 39,393 35,600 3,793
01 2= 39,393 35,600 3,793
OAZ2tZ2 245 8,7543 1501 %300 A| 2+ 39,393
J2Zd (AL A=) 33,988 33,772 216
Jl2 &4l 33,988 33,772 216
201 2et2 Y| 23,504 23,308 216
01 AP 2t 2] H| 19,788 19,788 0
O1 Bt==H| 16,008
DEMNRSYE AL2EZ2H|(2AHK2 16E)
14,508,000 14! 14,508
Ao Z2HI EY, ¥
300, 000& *x5CH 1,500
O5 &4l 3,780
Dot - 542 F 7,000& *15021x33| x12& 3,780
02 24| 3,736 3,520 216
O1 2222 2 HA 2,736
PRER2 1,900& 12024 *12& 2,736
O3 A& Z&Hl |Xldl 1,000
> EAH| |4l 500,000 x1CH x23] 1,000
202 044 7,464 7,464 0
01 201 b 7,464 7,464 0
OJI2g =8| 622,000 x12& 7,464
203 R F & 3,000 3,000 0
04 EASHELRFAH| 3,000 3,000 0
OBNM2gI2=&Y| 250,000 x12& 3,000




